Bitspower’ ROG Strix GeForce RTX 2080 Ti OC Edition 11GB GDDR6

(e

(1) BP-VG2080TIST 14
(2 10 =rEmaA 6 A
3 zE8#4 2%
@ o5=rRERET 17 {&@
(6) M2.5x 6 EKiB# 17%
(6) M2.5x 8 EKiB# 2%
Accessories
(1) BP-VG2080TIST 1SET
(2 1.0 mm Thermal Pad 6 PCS
37 1% £ AR EL 3R RO DRGBHEE
Digital RGB PIN on motherboard @ Booster Screw 2 PCS
or other equipment.
Vi ARSI L 110 & BODRGBIG 1 @ 0.5 mm Washer 17PCS
(6) M2.5x6 mm Screw 17 PCS
(6) M2.5x8 mm Screw 2 PCS

Ao
(1) BP-VG2080TIST 14
(@ 10=KSABA 6 R
3 zsEy 2%
@ 05 BRERET 17 {&@
(6) M2.5x6 E:kigy 17%
(6) M2.5x8 Ekigy 2%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -



ROG Strix GeForce RTX 2080 Ti OC Edition 11GB GDDR6

. < EmBERZES/Original Backplane Installation/[R BRZE A
Bitspower’ RREEA RS P mEEEa

Step 1

JRER 98 #%/Original screw/IR] 1822

\
7 (O revses . ssaswemrs -
4 & Keep the booster screw, remove the others.
REDERY - HRNHDERLIFS -
(<]
[RE®E/Original backplane/[R] &1k ®
4
4
C )
4

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACEARGURYRE -
& KRTREN MR BRI RBRNNT - MBENCASITELN - RIS SEGFUIIRE



Bitspower®

ROG Strix GeForce RTX 2080 Ti OC Edition 11GB GDDR6

%;ﬂ@ ):'I * ““E E’JIEEEL@FH {ﬁ% Applying The Thermal PAD And Thermal Paste On Correct Positions. ):'I *ﬂﬂ-?\;\‘(% ElgIEﬁﬁmzﬁﬁ 1ﬁ§

] esERens EZ] Using Appropriate Amount Of Thermal Paste.
B 1 MvEzEA [ 1 MM THERMAL PAD

Before filling in the water, please make sure all the components are installed correctly.

B - KA BARRAASADREEEROGE LSRRI - BRARNOERT - :
A SSimmias | RRRRARTERRES - BERERAT SRRSO - A\ Topreventanyleakage which may damage the PC components, please perform a

24-hour leaking test with only the pump connected to the power supply .

A EE - BKAT - ERBIAESHERREERNME F - £RFTFEN - BFKCRIOERT -
724/ A9BRKINE - BIRTRKEREETEN - BRAEERKNSHRBHMBMHAIRAL

V2/%8 _hRk



Bitspower’ ROG Strix GeForce RTX 2080 OC Edition 8GB GDDR6

s

(1) BP-VG2080TIST 14
(2 10 =rEmaA 3R
3 zE8#4 2%
\ @ os=rRERET 15 {&@
(&) M2.5x 6 EKiB# 15%
(6) M2.5x 8 EKiR# 2%

M Accessories

 DRGB | (1) BP-VG2080TIST 1SET
(2 1.0 mm Thermal Pad 3PCS

AL MRSl EU A R R ODRGB & A

Digital RGB PIN on motherboard @ Booster Screw 2PCS

or other equipment.

1% % KRS EL A1 RODRGBIE 8 @ 0.5 mm Washer 15PCs
(6) M2.5x6 mm Screw 15 PCS
(6) M2.5x8 mm Screw 2 PCS

[\ B
T ( N\
® BB 82 44 B4 i
O Remove the screw O Move the screw @ BP-VG2080TIST 14
iR iE s Bnigs @ 1.0 ERERBA 3R
[<>)
‘ 3 zmBz 2%
g @ 0.5 BRERET 15 {8
¢ (6) M2.5x6 Ekigy 15%
s (6) M2.5x8 Ekigy 2%
Yoo o ° 0 @o
\ a— )

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE



ROG Strix GeForce RTX 2080 OC Edition 8GB GDDR6

. <« FEmBERZE A /Original Backplane Installation/[R] BiRZ&E A
Bitspower" RS P SR

Step 1

JR R 384%/Original screw/[R] 182z

\

D REBESIELS - HERE D RS IEAIRE -
@ Keep the booster screw, remove the others.
REBRER2 - HREDBSBLIFE -

JR®iESH#/Original backplane//&] &1k ¢

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRATRBHERNRABELIURBENES - MAFEVABITEMN - ERACERTEURYRE -
& AATREXN = mER I B RBRNNT - MEENVABITEM - R e SEEUTRE -



Bitspower’

ROG Strix GeForce RTX 2080 OC Edition 8GB GDDR6

gaj h ):'| * B E = B’JIEEEEEE:FH ﬁj_% Applying The Thermal PAD And Thermal Paste On Correct Positions.

e Il\ =

B mssRens 2] Using Appropriate Amount Of Thermal Paste.

B 1 MmEssA I 1 MM THERMAL PAD

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

ER - MKAT - AERRASHCREAERNMUELE - £RMER - HHKRNERT -

A AR - BKAT  EARIAFMASHERREERNUEL - ERFEN - BFAKRNBERT -
BT24NEHKRE - BERBKEREBRIN  BRRERKMENBHMI ISR -

T2/ A9REKII - IBRERKIEREETEN - BRKRERKNSHBRB AR -

V2/58 ZhR



Bitspower®

& : BitspowerZE HEEERZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIRENERERE - KBEE - KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEERBERER -
RiEKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
AR : Bitspower BIUHTREERAMK - 4%K - MABitspowerfIRAERNKLRER ; MEFBETEMNKSRSRBERHE « KEEE - KRE
A MALER - KEERRIABHEZTEURRKEREERURAZOERN - HEEBITREERTmRE -

REKE - BABHKRER -

R BUKED - BERIASHETREERNUEL - EAREIH - BRAKENERT - ET24N\SHEKNE - BRERKBEREBREH  BeiERKMENENSEHAERER -
Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATAESHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKNE - BRERKEREEAEN - BRRKERKMNSREBMBAHNIRL -
FRERBHERNRAELURBENES - MAEHOASITEN - EREASZARGUBYRE -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
AREREN MR EXURBRNNT - MBENCASITEN - RISk GFUIIRE



